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1. Addilional 10 Ten) minutes willbe givento the students ofilup the students information before the
startof the exam,

2. Alquestionsare compulsoryand carry equal marks. There s no negative marking. Use of calculator

notpermitied.

3. Write yourName, Roll Number and Class clearly on the Answer Sheet and do not forget fosign.

4. Thereisonlyone correct answer hence mark one choice only-

5. Darkenyourchoicewith HB Pencilor Blue/ Black Ball Point Pen only. For Example:

Q16: Anumber has nine ones, sixtens and eight hundreds. Whatis the number?
(A) 869 (®) 8%
© 968 () 986 .06 O O
As the correct answer is option No. (A), the candidate should darken the circle corresponding to option No. [
6. Roughworkshould be donein the blank space provided in the booklet.
7. Return the answer sheet to the invigilator at the end of the exam. The question paper can be
retained by the student.
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4. Arat runs 20 m towards East and turns to right, runs 10 m and tums to right, runs 9 m and again
turns to left, runs 5 m and turns to left, runs 12 m and finally turns to left and runs 6 m. Now which
direction is the rat facing?

@ East (8) West (©) Noh (0) South

2. Choose the odd numeral pair/group I the given question
® 2-8 ® 3-27 © 4-32 (©) 5-125

3. The given question contains four problom figures marked 1,2, 3 and 4. Select a figure from amongst
the options which will continue the same series as given In the Problem figures.

NABA

VAN \ © !A‘

4. What comes next in the given pattern 7
10, 19, 40, 77, 158, _?

@ 3 (®) 307 (© 301 (©) 259
5. Count the number of cubes in the given figure.

w 23

® 24

(© 25

(D) None of these

6. Two positions of a dice are given. When 25 at the top, which of the following
numbers could bo at the bottom?
® 1 ® 2
© 3 © ¢

7. M7+1=64;3 9= 144. What is the value of 5+ 6 7
w 22 (®) 55 (© 68 © 121

8. 20frionds meet at a marriage recoption of their common friend. Everyone of 20 friends shook hands
with each other only once. Find the number of handshakes.

® 400 (8) 380 (© 40 (©) 190

9. Which of tho given options will come noxt in the given series 7
2UA, XOC, VIE, TCG, _2__
@ RAl ® sAG (©) RAG © Rwi
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[image: image3.jpg]10 The given question consists of two sets of figures. Figures 1, 2, 3 and 4 constitute the Problem
sot. There is a definite relationship betwoen figures 1 and 2. Establish a similar relationship between
figures 3 and & by choosing figure 4 from the altornatives.

protiam Set

E=ER

© )\j—"

11, One evening before sunset two friends Sumit and Mohit wero talking to each other face to face. If
Mohit's shadow was exactly to his right side, which direction was Sumit facing?

(W) Norh (B) South (©) West (D) None of these.

12. Sarthak remembors that his brother's birthday Is after 15 but before 18" of February whoreas his
sister Kashish remombors that hor brother's birthday is after 16" but bofore 16" of February. On
which day In February is Sarthak's brother's birthday?

® 1o ® 17 © 180

© 19

13, Out of the four figures (A), (B), (C) and (D), three are similar in a certain way. Howover, one figure
is not like the othor three. Choose the figure which is difforent from tho rost.

14 Find the missing character in the given question.
w 18 (8) 2¢
(© 3 © 48

15. In the given number sequence, how many such even numbers are there which are exactly divisible
by its immediate precading numbor but not oxactly divisible by its immediate following number?
38415728348939421582

(® Two (©) Three

) one (0) Four

‘c* means 'multipliod by’ and 'd" means divided by’ then
1Bc14a6b16da=?

(©) 288

16, 1f " means ‘plus’, ‘b’ means ‘minus’,

@ 8 (8) 254 (© 1208

17, The numbers in the given figures aro arranged according to a particular rule. Sclect the correct
answor which is to be written at the place of sign of Interrogation for third figure.

®w 3

©) 24
N

© 25
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® 27 (® 19 (© 30 (D) None of these

19. How many pairs of letters are thore in the word 'LANGUISH' which have as many letters betwean
them in the word as in the alphabet?
® N (8 One (©) Threo (0) Four

20. A bus starts from city X. The number of women in the bus s half of the numbar of men. In
city Y, 10 men leave the bus and five women enter. Now, number of men and women is equal. How
many passengers entered the bus in the beginning?

w 15 ® 3 (© 38 ® 45

EC

N Il : MATHEMATICAL REASONING:

21, The number (3 - V3) + VB)is wan _.
() Rotonainumber  (8) Nownaimmber  (C) Roslmumbor  — (©) Alofthese

22. Which of the following polynomials has (x + 1) as a factor?

Loxexexet [ R R
W a3 eI xe V. Pex-@2+ G+ 7
(©) land v © 1 and 1t

(&) Only 1| (®) Oniy il

23, Two distinet linos. ¢
(&) Aways intersoct (B) Alvays either intersect or are parallel
(€) Aiays have two common points (D) None of theso.

24, In the given figurs, valuo of xIs __.

©) 109

® 45 ® 30

25. Which of the following statements is correct 7
(&) Atrangle has two right angles.
(8) Al the angles of a triangle are more than 60",
(C) An exterior angle of a triangle s always greater than tho opposite nterior angles.
(D) Al the angles of a tianglo are foss than 60",

26. A point is defined as .
(A)  That which has 1o fength no breadth no height.  (B) Small part of aline with no length:
() Dimensionless, but represented by dot only. (0) Undefined term and represented by a dot.
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27. On plotting the points O (0, 0), A (3, 0), B(3, 4), C(0, 4 and joining OA, A8, BC and €O, which of
the following figuro is obtained 7

" Sauare (8) Restangle (€) Trapezium (D) Rnombus.

26 Astudent is given three sticks of langths 12 cm, 6 cm and 4 cm respectively. He is asked to make
2 triangle and then find the area of the triangle formed by tho 3 sticks 7
(& 36 cm (®) 12em
(©) 20cm (D) Providing area not possible

. £Q = 90° and Zb + Zc = 100°, then find P from given figure.

29, If fines /|| m and Za : £

A '
@
o e o
® 2 © 12 o &
30. Which of the following is a factor of (x + yP' = (' + y) 7
B ey ey ®) oy-x © ©) 3

31. Through how many maximum numbor of quadrants can a straight line pass 7
w2 ® 3 © 1 © 4

xt + x - 5, 50 that the result is exactly divisible by

32. What must be subtracted from dx! - 2x° ~
2e4x-17

@ s

® 12 © -4

AB || DE; then measure of ZACD i :

33. In the given fig

o ne
@ w0 © 8 (© 97

® 43

V-1 11
20 50T 2 e e i e vates o 2 3 b

R

35, Ia+b+c=9and s+ bi+ =35 then find the value of ¥ + b* + ¢* - 3abe.
® 52 ® 108 © 216 © 182

36. I ordinate of a point is zero, then this point always lles ___ .
(A) On the x-axis (B) On the y-axis (C) In the It quadrant (D) In the IV™ quadrant.
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37. ABCD is a given field whose sidos aro Indicated. If ZDAB = 90°, then area of the fleld is __.
o_mm ¢

®) 180m (&) 126m°

38, Points In which abscissa and ordinate have different signs will lie in __ .
(A) 1 and I quadcants () I and V" quadrants (C) 1" and li° quadran's (D) [1and IV™ quadraris

(®) 300m*

39, ABGis an isosceles triangle with AB = AC. Altitudes are drawn to the sides AB and AC from vertices
8 and C. One altitude CF is found to bo 4 cm and BC = cm. Find EC, where BE Is altitude to
side AC.

(D) None of these.

@ dom (8 som

© 3em

4. In given figure, if AB || CO [| EF, PQ || RS, ZRQD = 25° and LCQP = 60", then ZQRS s equal

.
:
g g
7
e
(a) 85" (B) 135° (€) 145" © 110"

Find the percentage of profit or loss.

4, Tha .ot camera s 3 ot G sna 5P 5 ot

() 25% profit (8) 35% profit (€) 33.33% loss (D) None of these.

42, P can doa job in 10 days, Q can do the same job in 12 days and R can do the same job in 15 day;
In how many days thoy will finish the work togother?.

® 2 ® 4 © 6

© 12

43. Amaan goes 10 km distance with average speed of 6 km/hr whilo tho rost 20 km he travels wit
an avorage speed of 15 kmihr, What is tho average speed of Armaan during tho whole journey?

() 10 kmih (8) 12kmie (©) 13 ki (D) 145 kmihe

44, Afather is throe times as old as his son. After twalve years, his age will be twice that of his son.
Find their present ages.
® 10.30 ®) 12,3

(© 635 © 124,

45. 250 mon took a dip in a water tank at a time, which Is 80 m x 50 m. What is the rise in the water
level If the average displacoment of 1 man Is 4 m’?

@) 22em (8) 25cm (© 18em (0) 30cm
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[image: image7.jpg]46. Rahul went to purchase a Nokia mobile handset. The shopkeeper told him to pay 20% tax i he asked
for the bill. Rahul manages to get the discount of 5% on the actual salo price of the mobile and he
paid the shopkeopor ? 3325 without tax. Besides he manages (o avold to pay 20% tax on the already
discountod prico. What is the amount of discount that he has got 7

® 2750 (®) 2375 (©) to75 () 2525

47. ABCIs a triangle. D, E and F are the mid-paints of the sides BC, CA and AB respectively. The ratio
of the area of A ABC and 4 DEF is.

® 4:1 ® 5

(© 3:1 () Cantbe determined

48. Pand @ can do a plece of work in 12 days, Q and R in 15 days, R and P in 20 days. In how many.
days can R alone do it?

w &0

) 50 © 25 () 2

43, Atent is in the form of right circular cone 10.5 m high, the diameter of the base being 13 m. If
8 men are in the tent, find the average number of cubic metres of ar spaco per man.

= " i
®) 3255 m ) 5975 m (© 33

)
© 5855 m

50 1f the annual Increase in the population be 20% and the present population be 10,000. What will
be the population aftor 3 yaars ?

(W) 16000 (8) 17280 (©) 14400 (0) 1728

'SPACE FOR ROUGH WORK
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